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1 #FERT Laza) 47 40 87 18.0 69.0 56 BR XH FAH 53 45 98 22.8 75.2 111 1Py —# Wl 54 59 113 34.8 78.2 166 &Il #ik Fi 51 63 114 31.2 82.8
2 B g Liz] 39 44 83 13.2 69.8 57  h0EE IE= R 46 46 92 16.8 75.2 112 BE KAl Fi 48 46 94 15.6 78.4 167 7KEF Z— Fi 59 54 113 30.0 83.0
3 MBR FH 44 44 88 18.0 70.0 58 FL = Liza) 51 59 110 34.8 75.2 113 8 %= =M 53 53 106 27.6 78.4 168 K BEL =i 60 59 119 36.0 83.0
4 BEF Iz =i 43 49 92 21.6 704 59 fERE fhz =) 48 55 103 27.6 75.4 114 {RH £ BEiR 49 45 94 15.6 78.4 169  f&iE {E3h L570] 57 56 113 30.0 83.0
5 A% —A FAH 43 42 85 14.4 70.6 60 =#E Iy 4 40 45 85 9.6 75.4 115 f#@HBE— =# 48 51 99 20.4 78.6 170 HE=E T 63 56 119 36.0 83.0
6 H[EEIEE FH 45 43 88 16.8 71.2 61 =5 tEN Fi 47 49 96 20.4 75.6 116 B =) 44 48 92 13.2 78.8 171 & XiE BEiR 59 54 113 30.0 83.0
7 X ME =#R 41 40 81 9.6 714 62 X EZE Liz] 44 44 88 12.0 76.0 117 AR 7E FH 52 52 104 25.2 78.8 172 Il Btk FH 52 54 106 22.8 83.2
8 EK = R 43 44 87 15.6 71.4 63 EH FzE BiR 43 45 88 12.0 76.0 118 HLI K& =# 41 57 98 19.2 78.8 173 =id 1PMEnE =R 60 51 111 27.6 83.4
9 KR FH 46 45 91 19.2 71.8 64 hEF ZEB FH 42 46 88 12.0 76.0 119 %[ 528 FH 43 43 86 7.2 78.8 174 {oFE 2= FH 52 53 105 21.6 83.4
10 BEH ¥E— BiR 49 46 95 22.8 72.2 65 EM JEF B 45 49 94 18.0 76.0 120 #&F & Fi 47 56 103 24.0 79.0 175 B &E& Rt 55 59 114 30.0 84.0
11 *TEBER FH 42 46 88 15.6 72.4 66 LA ZE Fi 48 46 94 18.0 76.0 121 fRH5E Wi 47 44 91 12.0 79.0 176 &F R FH 62 58 120 36.0 84.0
12 KT BE =i 46 48 94 216 724 67 BEH EB BiR 57 55 112 36.0 76.0 122 1B Abk Fi 40 45 85 6.0 79.0 177 =i B’P BEiR 63 57 120 36.0 84.0
13 =#@AH Wt 44 44 88 156 72.4 68 Fith A =i 47 46 93 16.8 76.2 123 Il 3% FH 52 45 97 18.0 79.0 178 &5 T BER 57 61 118 33.6 84.4
14 WK IEE =#L 38 43 81 8.4 726 69 EH SR BiR 52 53 105 28.8 76.2 124 @A 1E— =) 55 54 109 30.0 79.0 179 42 ith =R 58 48 106 21.6 84.4
15 Ll 35— W 40 47 87 144 726 70 B HREX Wl 48 45 93 16.8 76.2 125 HEEH Kt 45 46 91 12.0 79.0 180 =iF 88— Exill 54 57 111 26.4 84.6
16 RmEZ R 42 44 86 13.2 72.8 71 ¥k £ Kt 45 42 87 10.8 76.2 126 AKX &5 =# 47 44 91 12.0 79.0 181 3t Bz Fi 51 60 111 26.4 84.6
17 #H™ 55 FA 47 45 92 19.2 72.8 72 FHE W= FH 47 46 93 16.8 76.2 127 F#WEARF FM 55 60 115 36.0 79.0 182 #EfR¥F BEF =M 63 59 122 36.0 86.0
18 KK FHA =#L 43 48 91 18.0 73.0 73 FHHA FE Fi 47 52 99 22.8 76.2 128 IS LK =i 49 47 96 16.8 79.2 183 BA RE Fi 65 57 122 36.0 86.0
19 2 %3 =HR 49 53 102 28.8 73.2 74 FHE AT =H#L 47 45 92 15.6 76.4 129 F@H #Ak FH 50 46 96 16.8 79.2 184 K7 KAl Wil 60 62 122 36.0 86.0
20 USE A FH 47 49 96 22.8 73.2 75 HEF f@= Fi 46 46 92 15.6 76.4 130 FHE AFs  FAl 46 50 96 16.8 79.2 185 2H &BA BAiR 57 51 108 21.6 86.4
21 ERH T Laza) 43 41 84 10.8 73.2 76 LtERES Fi 53 51 104 27.6 76.4 131 =W RBA Fi 60 54 114 34.8 79.2 186 Bk #¥— Wil 50 57 107 20.4 86.6
22 HEfEth Fi 51 45 96 22.8 73.2 77 ZHERE FFHt 43 43 86 9.6 76.4 132 Il &34 BEiR 51 44 95 15.6 79.4 187 f{R#A S BAiR 61 62 123 36.0 87.0
23 Afh Esh Laza) 45 50 95 21.6 73.4 78 B L— Fi 40 46 86 9.6 76.4 133 HHF =# 56 57 113 33.6 79.4 188 [EHE B FAH0 56 59 115 27.6 87.4
24 FHE FH 47 42 89 156 73.4 79 HEA &% Wl 55 49 104 27.6 76.4 134 h0fE k= FH0 51 50 101 21.6 79.4 189 FHLt =th =iR 61 63 124 36.0 88.0
25 Laza) 45 44 89 15.6 73.4 80 FEA FlBA W 41 44 85 8.4 76.6 135 A% KA FH 47 53 100 20.4 79.6 190 A8 A% BEiR 63 61 124 36.0 88.0
26 BREN FHM 43 46 89 15.6 73.4 81 #&A filfkck Fi 43 42 85 8.4 76.6 136 4K IR =#L 42 52 94 14.4 79.6 191 BE Fsx =HL 58 54 112 22.8 89.2
27 FHE SZM FHM 41 42 83 9.6 734 82 WT & Liz ] 48 49 97 20.4 76.6 137 &R BT 4t 48 51 99 19.2 79.8 192 FHZ5AERE FH 66 61 127 36.0 91.0
28 K BA =i 43 40 83 9.6 734 83 JK¥ {5 Rt 53 44 97 20.4 76.6 138 Jbll &\ BEiR 50 61 111 31.2 79.8 193 BEX = Wl 68 59 127 36.0 91.0
29 B Rz FH 43 40 83 9.6 73.4 84 EF =B =# 52 45 97 20.4 76.6 139 7#t IE3A =# 50 49 99 19.2 79.8 194  =iF FIFE FH 68 61 129 36.0 93.0
30 A=K =) 45 43 88 14.4 73.6 85 MR B 0 47 49 96 19.2 76.8 140 =HE 3B Esza) 51 53 104 24.0 80.0 195 #FH BN Fi 65 67 132 36.0 96.0
31 EH = IR 44 50 94 20.4 73.6 86 K {EF Fi 50 52 102 25.2 76.8 141 F8 I 4y 57 59 116 36.0 80.0 196 FHE 7 FHM 70 63 133 36.0 97.0
32 At B BiR 50 49 99 25.2 73.8 87 thl E#E Fi 50 46 96 19.2 76.8 142 —B#REF it 55 55 110 30.0 80.0 197 FEF #&th BSR 68 65 133 36.0 97.0
33 1T B Wi 51 42 93 19.2 73.8 88 AF HT% Wl 51 50 101 24.0 77.0 143 Al =R FA0 52 46 98 18.0 80.0 198 EK fiES FA 69 65 134 36.0 98.0
34 KR %E Fi 52 58 110 36.0 74.0 89 imMEk BB BEiR 45 44 89 12.0 77.0 144 —E &W =#L 42 50 92 12.0 80.0 199 FkFR R—HA Fi 64 70 134 36.0 98.0
35 & =R Fi 50 48 98 24.0 74.0 90 FEE TR 49 46 95 18.0 77.0 145 Tt #18 FA 46 45 91 10.8 80.2 200 BT #EE Laz ] 74 67 141 36.0 ###
36 Tk E— R 40 40 80 6.0 74.0 91 M BBE FH 50 50 100 22.8 77.2 146 1EE BE &t 57 57 114 33.6 80.4 201 &I ES F 79 71 150 36.0 ###
37 HEE Laza) 42 43 85 10.8 74.2 92 kA B FH 54 40 94 16.8 77.2 147 HE BEHx Ff 51 51 102 21.6 80.4 202 WA T FH 76 87 163 36.0 ###
38 %I FEIUED =#R 42 43 85 10.8 74.2 93 LM UE =i 50 50 100 22.8 77.2 148 =3B BEiR 53 60 113 32.4 80.6
39 t/EEE FH 46 45 91 16.8 74.2 94 hEF — FH 46 47 93 15.6 77.4 149 KHEFA IR 57 56 113 32.4 80.6 KEINETOBEFERE LA
40 EWLA TR 47 50 97 22.8 74.2 95 . BlR =i 43 44 87 9.6 77.4 150 FHE K= =# 50 51 101 20.4 80.6
41 B85 =#n 43 48 91 16.8 74.2 96 I BEX FM 53 52 105 27.6 77.4 151  IRA R—EB FH 59 54 113 32.4 80.6
42 FR HE Wl 45 45 90 15.6 74.4 97 FHPE —A Fi 53 57 110 32.4 77.6 152 g 2 Fi 52 61 113 32.4 80.6 « FEULAR-IL »
43 WA AE Wl 45 45 90 15.6 74.4 98 ik et Bf4d 51 47 98 20.4 77.6 153 A B=E FHM 49 50 99 18.0 81.0 Kingd—X @GO DO®
44 HE —BB W 47 48 95 204 74.6 99 /IEERE#OF =ML 59 51 110 32.4 77.6 154 =% & Fi 56 55 111 30.0 81.0 Princed—2X Q0®600O
45 */E BIR FH 42 47 89 14.4 74.6 100  LPy 7RA Wl 53 51 104 26.4 77.6 155 FH=EE =#r 58 52 110 28.8 81.2 Queend—2X @0EPO®®
46 AL B= =) 40 42 82 7.2 74.8 101 =i th Fi 48 50 98 20.4 77.6 156 FHE = Fi 57 53 110 28.8 81.2
47 K IES L3Zo] 52 48 100 25.2 74.8 102 t/E&—H8 FHM 57 46 103 25.2 77.8 157  ARH BR{C BESR 53 51 104 22.8 81.2
48 Lk BX BiR 48 46 94 19.2 74.8 103 #H EF T 45 46 91 13.2 77.8 158 AEF & Fi 54 62 116 34.8 81.2
49 7l EH FM 52 48 100 25.2 74.8 104 WF R IR 48 49 97 19.2 77.8 159 tT/E R =R 57 52 109 27.6 81.4
50 LA BBE TR 47 46 93 18.0 75.0 105 #H &HIE FAH 50 52 102 24.0 78.0 160 iRA 3hA Fi 54 58 112 30.0 82.0
51 &5 % Liz] 42 45 87 12.0 75.0 106 /KO #%= Fi 50 46 96 18.0 78.0 161 R s FH0 62 56 118 36.0 82.0
52 X fA— Wl 54 51 105 30.0 75.0 107  7RiR Bid Fi 43 47 90 12.0 78.0 162 BE B Fi 58 60 118 36.0 82.0
53 fAH R =i 44 49 93 18.0 75.0 108 BALL IE— FFHt 53 55 108 30.0 78.0 163 M BA3A =) 57 54 111 28.8 82.2
54 g HEE =HR 41 40 81 6.0 75.0 109 HBE BB— 4+ 53 48 101 22.8 78.2 164 H\H @S =i 51 53 104 21.6 82.4 Bl O B : 202510848 (L)
55 FHE & R 49 44 93 18.0 75.0 110 BAE & =# 42 47 89 10.8 78.2 165  #kL EX At 65 50 115 32.4 82.6 = B B ®INIE XS




